Puzzle 4048, Difficulty 10

13 14"""”"“‘ 30 1|13 17
51 5 4 7}16}32 319 |8,
3 7 I R i S
1”777”136113134139118132 5| 1
T l i :fiijff l i i e —— 1’%111;’1’5”" :::,:
29 j} 81351 476 |
4,,,,,,,,,,:,} 3757:: ffffff,‘ : 3 ; ,iiiiii"’z’z’iiil
3|16 9)12 715 8 | 4
39 P P —— a—— iiiiii,ffffff‘:’ ’1’6111‘ —

5 |7/9]|18|43]|1]|6 2
1’%1’;’3 ’éffff; — Z,iiii‘l ?;é —————F——————
814|216 115|739
S N ] K T
9912|1513 (6|8|4,7
10| 2 15 | 3 8
4851|719 6j§2§§3§
) | N I
63 7]2 8 ]4[9]1]5]

Copyright (c) www.dailykillersudoku.com




